
Ai ηi fi
A0
ρρ 1 Mρ(m1)Mρ(m2) cos θ1 cos θ2

A
‖
ρρ 1 Mρ(m1)Mρ(m2) 1√

2
sin θ1 sin θ2 cosϕ

A⊥
ρρ −1 Mρ(m1)Mρ(m2) i√

2
sin θ1 sin θ2 sinϕ

A0
ρω 1 1√

2
[Mρ(m1)Mω(m2) +Mω(m1)Mρ(m2)] cos θ1 cos θ2

A
‖
ρω 1 1√

2
[Mρ(m1)Mω(m2) +Mω(m1)Mρ(m2)] 1√

2
sin θ1 sin θ2 cosϕ

A⊥
ρω −1 1√

2
[Mρ(m1)Mω(m2) +Mω(m1)Mρ(m2)] i√

2
sin θ1 sin θ2 sinϕ

Aρ(ππ)0 −1 1√
6
[Mρ(m1)M(ππ)0(m2) cos θ1 +M(ππ)0(m1)Mρ(m2) cos θ2]

Aρf(980) −1 1√
6
[Mρ(m1)Mf(980)(m2) cos θ1 +Mf(980)(m1)Mρ(m2) cos θ2]

A(ππ)0(ππ)0 1 M(ππ)0(m1)M(ππ)0(m2) 1
3

A0
ρf2

−1
√

5
24

[
Mρ(m1)Mf2(m2) cos θ1(3 cos2 θ2 − 1) +Mf2(m1)Mρ(m2) cos θ2(3 cos2 θ1 − 1)

]
AS

+

a1π 1 1√
8

∑
{ijkl}

1√
3
Ma1(mijk)Mρ(mij) [cosαkl cosβik + sinαkl sinβik cos Φkl]


